Best model for HELP_J143005.297+350204.095 atz = 1.776 )(2=24.27
OPTx?=29.91 IRy%2=7.96 threshold (OPT IR)=22.21 [um]

102 E Stellar attenuated
1 = Stellar unattenuated
—— Dust emission
. —— AGN emission
1 = Model spectrum
101 5 : i e Model fluxes
E : m [ Observed fluxes
> | :
? 1 o] . /"
'~ 10° 4 :
x E :
2 ] /
[N
1071 -
X ]
2077 3
© | == (Obs-Mod)/Obs
3 ]
S ]
s ]
] o [ Y Sy —, VIR (R Sy SR Uy gy gy S Sy Sy Sy Sy S S S S ———
| . -
g ]
5 ]
& -1+ T _— CIGALE
(V]
[a'd

10° 10! 102 103 10% 10° A
Observed wavelength [um]



